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Q1. (15 pt) The lines 3z — 5y — 7 =0 and ax — 3y + 2 = 0 are parallel. Find a.

Q2. (15 pt) Using transformation tecniques graph the function:

y=lzx—1/+2
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Q3. (15 pt) Find z - and y - intercepts of the equation:

y2(3x2—2)—5:€+8:0

Q4. (20 pt) If f(z) =32+ 2+ 10 and g (z) = V4 + 5z, find a) fog, b) go f, c)
(gog)(1).
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Q5. (15 pt) Test the graph of the equation
z+2=y"+y

for the symmetry about the r— axis, y— axis ant the origin.

Q6. (20 pt) The vertex of the parabola y = ax?+ 4x — 2 is located at the point (1,0).
Find a and b.



